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Name 10—digit PUID

Recitation Instructor Recitation Section Number

Lecture's Name

Instructions:
1. Academic Integrity
a. Students may not open the exam until instructed to do so.
b. Students must obey the orders and requests by all proctors, TAs, and lecturers.

No student may leave in the first 20 minutes of in the last 10 minutes of the exam.

o

e

Books, notes, caleulators, or any electronic devices are not allowed on the exam,
and they should not even be in sight in the exam room. Students may not look at
anybody elses test, and may not communicate with anybody else except, if they
have a question, with their TA or lecturer.

e. After time is called, the students have to put down all writing instruments and
remain in their seats, while the TAs will collect the scantrons and the exams.

f. Any violation of these rules and any act of academic dishonesty may result in
severe penalties. Additionally, all violators will be reported to the Office of the
Dean of Students.

T have read and understand the exam rules stated above:
STUDENT NAME (print}:
STUDENT SIGNATURE:

2. Fill in all the information requested above. On the scantron sheet fill in your name,
student ID number, and the section number of your recitation with an extra ¢ at the
left. Blacken the correct circles.

3. This booklet contains 12 problems. Problems 1 through 12 are worth 7 points each.
Problems 13 and 14 are worth 8 points each. The maxirmum score is 100 points.

4. For each problem mark your answer on the scantron sheet and also circle it in this
booklet.

5. Work only on the pages of this booklet.

Mark TEST 01 on your scantron!
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3. Which integral arises after making a suitable substitution to compute j | m dx
A. f 2 sec @ tan® 6d0
B. /48802 # tan 8do
C. / 4 cos” df
D. / 2 sin 8 cos 00

E. [ 2 sec® Bdf

42 ~ ¢
4. Which substitution should be used to compute / 1/ v~ 9 dx
. €T

3tan#
A a= ;n
B. .r=%sec9

2 secd
C.z= %;C
D. ;E=§Siﬂ9

E. r =3tané
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1
5./ v/ 1+ 22 dr
J0
A 2v/2 -1
B. -;—(\/5—1)

C. 2WE-1)

D. % (2v2 — 1)

E V21

6. Compute | /1 i ;i =
A2
B. 2v2 -1
C. V21
D. V2

E. 1
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¢ nl?.—i—ﬁsin?;r.
sin 22
D 2ln|—————
o Epar e
1 sin 2z
E. g 3+ 6sin 2z +C

Fall 2014 Page 5



MA 16200 Exam 2 (FORM 01) Fall 2014 Page 6
9. At 20 foot intervals, going west Lo east, 5 measurements are taken of the width (in
feet) of a small pond. The table below gives the results. Using Simpson’s Rule with

n = 4, approximate the surface area of the pond.

West 20, 25, 25, 30, 20 East

A w ft?
3

B. 2,000 [t2

¢ 16,000 .,
9

p. 620 s
3

E. —1’250 ft2

10. Which of the following improper integrals converge?

' ! bl 81
L / e” " dr iL. / — dx {iI. f —= d Iv. / dx
Ji J1 T 0 VT g ¥ —2

A. only IT and IV

o

only I and III

Q

only I and 11

S

only II and 111

E. only IIT and IV
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11. Find the exact length of the curve y = In(sec:z), 0 <z < g

A ln V3
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D. In2+ V3|
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12. Theewmrve y =12, 0< 2 < 2 is rotated about the y—axis. Find the exact arca of the

surface of revolution.
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